C:192.168,100.85/27
D: 192.168.100.75/27
Admin: 192,168.100.66/27

h 32 bytes of data:

bytes=32 time<ims TTL=128
‘bytes=32 time<ims I1TL=128
,hytes-32 time<ims T]L=128
TTL=128

= 4, Lost = 8 <8

times in milli-seconds:
! = Bms, Average = Bns

loss),
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mb3er fartheir range
' mask for their range.

taddress for their range

Scanned by CamScanner




1is represented in the graphic?

~ RJ-45-10-RJ-45
. Rollover Cable

e £
0]~
o

RJ-45-to-DB-9 Adapter
labeled TERMINAL
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nected on its own cable segment.

ission from the hub, to signal its turn.

Printer

o R
O -
3 S =

gy <
!
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all 1P addresses from

sk correetly identities
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B are unable to communicate with each other. What is the reason for this?

etwork address.
a multicast address.
B belong to different networks.
2sses are network addresses.

tmask of the gateway interface in a sub-network where only 14 hosts
P address of one of the hosts is 193.145.122.76 ?
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